

INTER CLUB COUNCIL AT UNIVERSITY OF CALIFORNIA, MERCED ALLOCATION OF FUNDS PROPOSAL FINAL APPROVAL DOCUMENT



ICC MEETING DATE: 10/3/2016

EVENT DATE: 10/25/2016

EVENT NAME: Domestic Violence 101 Game Show

CLUB: VOICES

TOTAL AMOUNT REQUESTED: \$374.61

TOTAL AMOUNT APPROVED: \$374.61

VOTE

YES: 2

NO: 1

**Meeting Notes** 

 Only 3 delegates were present to vote on this

ASUCM PRESIDENT SIGNATURE:

Katelyn Filzgerald

DATE: 10/04/16

APPROVED:

NOT APPROVED:

ICC #

From:	asucm@ucmerced.edu on behalf of Associated Students of UC Merced
To:	ucm ASUCM Intern
Subject:	Form submission from: ICC Proposal Form
Date:	Monday, September 26, 2016 11:38:55 AM

Submitted on September 26, 2016 Submitted by anonymous user: [::ffff:169.236.78.22] Submitted values are:

Contact Name (First and Last): Carlo Vasquez Contact E-Mail: cvasquez24@ucmerced.edu Club Name: Violence Outreach Informing our Campus with Educational Solutions Are You a New or Returning Club for the 2015-2016 Academic Year? Returning What Type of Proposal is This? Small Ticket Event Date: Oct. 25, 2016 Start Time of Event: 2:00 pm End Time of Event: 4:00 pm Event Title: Domestic Violence 101 Game Show Event Location: Scholar's Lane Description of Event: A Jeopardy-inspired game to bring awareness and education to UCM students on Domestic Violence issues. The DV 101 Game Show will give students an opportunity to answer up to 5 questions in 5 categories, categories will range from Myth and Facts to Pop Culture references. Each correct answer gives participants the opportunity to win a prize.

The event will take place over a series of 4 dates:

- Tuesday 10/25 2-4 p.m.
- Wednesday 10/26 12-2 p.m.
- Thursday 10/27 2-4 p.m.
- · Monday 10/31 3-5

Have You Received an ASUCM Line Item for this Event? No

Budget Breakdown:

http://asucm.ucmerced.edu/sites/asucm.ucmerced.edu/files/webform/dvam\_dv\_101\_game\_show\_budget.pdf

Total Amount Requested: \$374.61

Are You Bringing in a Speaker: No Description of Speaker (Optional):

The results of this submission may be viewed at: http://asucm.ucmerced.edu/node/135/submission/4521



# INTER-CLUB COUNCIL AT UNIVERSITY OF CALIFORNIA, MERCED - RCO EVENT FUNDING PROPOSAL -



RCO Name: Violence Outreach Informing OUF Compus with Educational Solutions Event Title: Domestic Violence 101 Game Show Total Amount Requested: \$37 4.61

#### **FACILITIES** – [insert requested amount here]

FACILITY	VENDOR	RENTAL RATE	HOURS O/USE	TOTAL PRICE
				(Girking) James

#### HONORARIUM/SPEAKER – [insert requested amount here]

Name(s) of Honorarium/Speaker(s):

**Description of Services/Cost:** 

#### **<u>PERFORMER</u>** – [insert requested amount here]

Name(s) of Performer(s):

**Description of Services/Cost:** 

**ADVERTISING** – [insert requested amount here]

	TOTAL	# O/ UNITS	UNIT PRICE (\$x.xx)	VENDOR	ITEM
	a manager alexa	di na materi	2 A LEASTA D		Same and
					and and a
			1.000		
SUBTOTAL				***	2
TAX	L (L SSA)	1.55			
GRAND TOTAL	I The Areas				

## **FOOD/DRINKS** – [insert requested amount here]

ITEM	VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL	
Trailmix bar	Costco	\$12.79	3	\$38.37	
Cheez + Cracker	Costco	\$8.49	3	\$ 25.47	"Narradon saark] - M
KS Frt Shack	Costco	\$10.99	3	\$ 32.97	
Rice Krispie	Costco	\$10.99	3	\$ 32.97	287
Hunts Sk Pak	Costro	\$6.49	3	\$ 19.47	
Frite Bold	Costeo	\$12.09	3	\$ 38.97	
Frito Sci Uty	Costco	\$12.99	3	\$38.97	
					SUBTOTAL
					TAX (if applicable)
				\$227.19	GRAND TOTAL

### **<u>ADDITIONAL SUPPLIES</u>** – [insert requested amount here]

ITEM	VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL
Nuti Grain	Costco	\$ 12.49	3	\$37.47
Muffin s	Costco	\$6.99	5	\$34.95
Assorted Candy	Costco	\$10.00	5	\$50,00
				La da la com
	5 <sup>1</sup> 5 5			
		·		

	SUBTOTAL		
	TAX		
122.42	GRAND TOTAL		

**<u>OTHER</u>** – [insert requested amount here]

ITEM	VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL	
Cleft Supplies				\$ 25.00	
					24 T
					SUBTOTAL
					TAX
				\$ 25.00	GRAND TOTAL

